Träna på att omvandla!

2700 m =         km
690 m =            km
1,5 km =           m
0,9 km =           m

70 cm =       dm =           m
130 cm =           dm =          m
1,6 m =            dm =             cm
0,3 m =             dm=             cm
138 cm =             dm =             m
60 cm =               dm =                m

92 mm =            cm
71 mm =             cm
118 mm =           cm
1,9 cm =              mm
12,3 cm =             mm
[bookmark: _GoBack]42,5 cm =            mm


1 km= 1000 m
1 m =  km = 0,001 km
100 m =  km = 0,1 km

1 cm= 10 mm
1 mm =  cm = 0,1 cm

1 dm= 10 cm
1 dm = 100 mm
1 cm =  dm = 0,1 dm
1 mm =  dm = 0,01 dm

1 dm=  m = 0,1 m
1 cm =  m = 0,01 m
1 mm =  m = 0,001 m
1 m= 10 dm
1 m = 100 cm
1 m = 1000 mm

